Q.P. Code :11686

[Time: Three Hours] [ Marks : 100]

Please check whether you have got the right question paper.
N.B: 1. All Questions are compulsory.

SECTION | (40 MARKS)
1. ‘Surplus Energy Theory’ was propounded by
a) Mc Dougall b) Herbert — Spencer
c) Llazarus d) Karl Groose

2. The process through which child acquires new response on modifies old responses is called
a) Education b) Learning
c) Conditioning d) Adaption

3. Physical Education in the school Curriculum in Maharashtra State is a
a) Core Subject b) Relative Subject
c) Optional Subject d) Compulsory Subject

4. Presently the primary objective of Physical Education is the development of
a) Motor Fitness b) Health related fitness
c) Character d) Personality

5.  Which of the following countries has influenced the development of Physical Education in the 20 Century.
a) United Kingdom b) Denmark
c) US.A. d) Germany

6. The muscle tissue is distinguished from other tissues by the ability to
a) Perform at high speed b) Engage in sustain activity
c) Contract and perform mechanical work d) Perform at least resistance.

7. How many energy is released during oxidative process than anaerotric glycolysis?
a) 15 times b) 18 times
c) 21times d) 12 times

8. With which of the following the lungs volume does not vary?
a) Age b) Gender
b) Body size d) Posture

9.  The term ergogenic aid describes substances or produces that improve :
a)  Physical work capacity b) Physiological function
c) Athletic performance d) Psychological function.

10. If an athlete exposes a just injured limb to heat, he will :
a) Aggravate its swelling b) Worsen its condition
c) Only delay its recovery d) Render it liable to infection

11. Turning of the foot so that the sole faces outward, the movement called :
a)  Extension b) Protraction
¢) Eversion d) Abduction

12. Leversinthe body produce force to:
a) Create movement b) Overcome resistance
c) Accelerate an object’s velocity d) Catapult an object into space.
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A sprinter in position, haring center of gravity outside the base of support has :
a) Stable position b) An unstable position
c) A semi-stable position d) A neutral position.

In the process of motor skill improvement the speed of joint actions is controlled by :
a) Nervous System b) Muscular System
c) Skeptical System d) Restriratory System

The range of vertical displacement of the body in running is :
a) Greater than in walking b) Lesser than in walking
c) Same as in walking d) Equal as in walking

Associative theories of learning are based on the premise of :
a) Individual environment bond  b) Stimulus and response bond
¢) Brain—mind bond d) Sensory — Perception process bond

What dimensions of personality do, complex thought process, rational thinking and creativity, reflect :

a) Social dimension b) Mental dimension
c) Intellectual dimension d) Emotional dimension

Which of the following is not a key factor in the development of group dynamics?
a) Forming b) Storming
c) Confirming d) Per forcing

Which of the following provides comprehensive learning experiences
a) Syllabus b) Course Content
c) Curriculum d) Course material

In curriculum development. What is resisted the most from all corners
a) Innovation b) Experimentation
c) Research d) Change

Health is basically a responsibility of the :
a) State b) Parents
c) Individual d) Community

Which of the following conditions is life threatening?
a) Heat Radiation b) Heat Exhaustion
c) Heat stroke d) Heat loss

Our hands generally get contaminated with
a) Bacteria b) Soil and dirt
c) Oil d) Chemicals

Who of the following need the most recreation?
a) Infants and children b) Girls and Women
c) Labourers and working people d) Athletes and Players

Which of the following sports activities cannot be categorized as anaerobic :

a) Sprinting b) Squats and bench press repetition
¢) Running a Marathon d) Free style swimming of beginner
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For maximum power production which of the following tracing exercise is useful?
a) Plyometric b) Weight training
c) Resistance training d) Iso — kinetic training

The important indicator of female skeleton is :
a) Small skull b) Wide pelvis
c¢) Curved humorous d) Wide mandible

The minimum duration of a macro — cycle is :
a) 17 days b) 7 days
c) 2days d) 10 days

Skeletal growth can be measured by :
a) Date of birth b) Carpel X —ray
c) Brainscan d) Steel tape

One of the important tools for collecting data in historical research is :
a) Sampling b) Experiment
c) Interview d) TAT tart

The bears aim of interval training is the development of
a) Speed b) Speed — strength
¢) High endurance d) Speed endurance

Russel — Lang test is meant for measuring playing ability in
a) Basketball b) Volley ball
c¢) Badminton d) Golf

Reciprocal innovation is a process that involves our
a) Vascular system b) Hormonal Regulation
¢) Neuromuscular phenomenon  d) Muscular system

The pattern of reducing heat rate after exercise is known as :
a) Bradycardia b) Recovery
c) Low heatrole d) Super compensation

The largest organ in human body is :
a) Femur b) Liver
c) Heart d) Brain

BMl is the ratio between:
a) Food intake and output b) Body weight and height
¢) Age and height d) Body fat and weight

Isometric training is performed against :
a) - A movable object b) An immovable object
c) A static object d) A dynamic object

To solve problem that hare direct bearing on the context in which the research is to be conducted, we use :

a) Applied Research b) Fundamental Research
c) ‘Qualitative Research d) Action Research

The infinite number of individuals or items which serves as a sources of data in a study are called :

a) Sample b) Population
c) Statistics d) Data
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If we deduct the lowest score from the highest score of a distribution we would get the.
a) Variance b) Range
b) Average d) Standard deviation

SECTION - 11 (30 MARKS)
Attempt any three questions out of five
Explain the sliding filament theory for muscle contraction.
State the importance of philosophy in physical Education.
What is normal probability curve? Write its characteristics.
Explain a test to measure flexibility.
Explain the process of adaptation of training load.
SECTION - 11l (30 MARKS)
Attempt any three questions out of five
Discuss the psychological principles applied for enhancement of performance in sports.
Biomechanically analyse the action of striking in volleyball

Explain in detail preventive, promotive and curative aspects of yogic practices in physical education and

sports
Innumerate the various parts of Research, Report. Explain any two in detail.
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